Table

B ISHET—TIV

YKT>U—X

YKT-1890(1V)

YKT-1845(TE)
TA R — JAN 056547

F—7% JAN 056592

IY9AFU7

74X
T7IEYY—

HIA4ILZR

YKT-1890SE(RO)

YKT-1845SE(BK)

7577 JAN 068021 O—X JAN 056318
ERACS[ 0]
FBLEHT—TI FiRfHHE it (RO/IV/TE) it (BK) X (mm) WatH | HaEg
YKT-1890 53,500/ (iskflitg) | 59,000 (Biikffits) | W1800XD900XH700 “61F | 21kg
YKT-1860 29,700/ ®iskflitg) | 37,500 (Biikffitk) | W1800XDB00XH700 “42% | 18kg
YKT-1845 24,400/ ®iskfmig) | 31,000 (Bikflits) | W1800XD450XH700 “32% | 15ke
YKT-1560 iR 29,400/ @ik | 36,600 (Bitkflitg) | W1500XDB00XH700 “35%F | 15kg P L
YKT-1545 23,900/ (®iskflitg) | 29,300 (Birfi) | W1500XD450XH700 “26%F | 12kg
YKT-1260 30,400M ®iskfmite) | 37,500 (Bekfiitg) | W1200XD600XH700 2.8F 12kg
YKT-1245 25,200 (Bitkffits) 28,400 (Biskffisg) | W1200xD450XH700 21%F 10kg
YKT-1890SE 58,200M (®itkfi) | 62,100 (Bkffig) | W1800XD900XH700 “61F | 21k
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YKT-1845SE 29,100 (Biskffits) 34,200 (Biskfiisg) | W1800xD450XH700 “327F 15kg
YKT-1560SE v7bTyy | 34,600M ki) | 42,900 (BikfEig) | W1500XD600XH700 “35%F | 15kg
YKT-1545SE 28,100M ®iskflite) | 33,2007 (Bekffitg) | W1500xD450XH700 “26F | 12kg
YKT-1260SE 35,500 (Bi#kffits) 45,200/ (Bikffifs) | W1200XD600XH700 2.8%F 12kg Bh J:tfi\:
YKT-1245SE 29,000 (B kfits) 35,300 (Biskffisg) | W1200xD450XH700 21%F 10kg SWT—7
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